

Neuk; : 60 epkplk;                             kjpg;ngz; : 25 
I. rhpahd tpiliaj; Nju;e;njLj;J vOJf.                         𝟑 × 𝟏 = 𝟑 

1. jk; + capu; vd;gjidr; Nru;j;J vOjf; fpilf;Fk; nrhy; ________. 

  m) jk;Kapu;  M) jkJapu;  ,) jk;capu;  <) jk;Kcapu; 

2. tho;tpy; cau fbdkhf ________ Ntz;Lk;. 

  m) Ngr  M) rpupf;f  ,) elf;f  <) ciof;f 

3. kzpNkfiy ifapy; ,Ue;j mKjRugpapy; czT ,l;l ngz; ______ . 

  m) rpj;jpiu  M) Mjpiu  ,) fharz;bif <) jPtjpyif 

II.gpd;tUk; njhlu;fspy; mbf;Nfhbl;l nrhw;fs; vt;tifg; ngau;fs; vd vOJf.

                  𝟑 × 𝟏 = 𝟑 

4. iffs; ,uz;Lk; gpwu;f;F cjtNt vdr; rhd;Nwhu; fUjpdhu;. - ___________ 

5. mwk;> nghUs;> ,d;gk;> tPL miljy; E}ypd; gadhFk;.  - ___________ 

6. Foe;ij njUtpy; tpisahbaJ.      - ___________ 

III.  xyp NtWghlwpe;J thf;fpaj;jpy; mikj;J vOJf.       𝟐 × 𝟏
𝟏

𝟐
= 𝟑 

7. muk; - mwk; 

8. kdk; - kzk; 

IV. gpd;tUk; tpdhf;fSs; vitNaDk; %d;W tpdhf;fSf;F               

tpilaspf;fTk;                                                     𝟑 × 𝟐 = 𝟔 

9. ,d;gepiy vg;NghJ te;J NrUk;? 

10. gpw capu;fis vt;thW fhg;ghw;w Ntz;Lk;? 

11. mKjRugpapd; rpwg;G ahJ? 

12. ,LFwpg;ngau; vd;why; vd;d? 

V. gpd;tUk; tpdhf;fSs; vitNaDk; ,uz;L tpdhf;fSf;F MW thpfspy;     

tpilaspf;fTk;.                                                 𝟐 × 𝟑 = 𝟔 

13. guhguf;fz;zpapy; jhAkhdtu; $Wtd ahit? 

14. kzpNkfiy kd;duplk; Ntz;baJ ahJ? 

15. mWtifg; ngau;r;nrhw;fSf;Fk; vLj;Jf;fhl;Lfs; jUf. 

VI. mbgpwohky; vOJf.                                           𝟐 × 𝟐 = 𝟒 

16. ‘jk; capu;Nghy;’ vdj; njhlq;Fk; guhguf; fz;zp ghly;. 

17. ePu gpw vd KbAk; jpUf;Fwis vOJf. 

******* 


